ANNUAL EXAMINATION - 2021

QUESTION BOOKLET

CLASS -V
NAME  coooeeseoeeeeereeeseseeeseesseseeseeesmesesssseessesssssesssmsseesesseseee
ROLL © vveeveeeereersessesereesseseesesesesseesesseesssseeesesseeseseseessseeseneeseee
SECTION : 1o eeeseeessesesesesesseeesesensseessessese e seeesesssesee
MOBILE NO.. ooovoeeeeeiersnsesserieseesseesseeeesssssssssssssssssssssessssness

SUBMISSION DATE © oo,




RAMAKRISHNA VIVEKANANDA MISSION

DEBARATI ROY MEMORIAL INSTITUTE (D/S)
(English Medium)

Annual Examination - 2021

Class -V
Time : 2 hours 30 mins. Subject — Bengali Full Marks : 100
[N E= 10 0 1SS
ROIINO. & oo, Section ..o Class: .cooveieeeeieanna, Date: .o
F-etal
S PR AR WGH IR AT G 1 J24Z (7 | (8+2=10)
Te-
e @ (5x1=5)
T, SefeT, AR, AT, Fo |

Te-



V-Bengali (2)

9| 7-foei A=y Ted nie (5x2=10)
F) SIeHT Igel Aferifarel wIre [ ([ (2)
Tg-
q)  RIEGR TS @ e Bl @72 (2)
Ts-
) STeHALAM (TR (57201 9f0 [Ke Fece I (574 | 2)
Ts-
¥)  WgH IR APhe w1 2 G2 SRS BT [ L (e 27 2 (2)
T2-
8) *miod [Keidre o1 foiee, (72 feidie w1 s7=iaits! I 107 61 | — ©f e, Lo (2)
T2-
8| fagferide emiafem I Tex nle : (5x5=25)
F) ‘we A7 frIbia’ sitg /N ceam eirefzee™ $17 R 3w nie | fofq aittaa W < &
- PRI FOCARCE 2 (2+3=5)

Te-



V-Bengali (3)

q) g IR TR Frem e @14 | (5)
Te-

9)  “IACTE TRA (12 ST G KT AR — G2 (I S0 I I 2R 2 [om6l F 7150 I
GR GF (ATF TAICIT TAT fF2 (1+3+1=5)

Te-



V-Bengali (4)

q) SNl W R R @ AT FH00 A (i ORI 2 FE eIl FReR [Fed Meerid
(TIPS FCACZ ? (1+4=5)

Te-



V-Bengali (5)

8) ©Igl¥F OF Al S K

) T ome i) T — @3 N R{ewe Az 567 A0y T0R-@0R @A) FZ 767 Ay TN @
ST AW Y (7T B | (1+2+2=5)
Ts-
4-Reial
€l i) AR o R w@0e & @RI Snizde wie | (21?)
i) IR IR P A0 2 SWIRAC AZCANCA (&7 | (217)

Te-



V-Bengali (6)

V| %6 IR GCT G I 519 FCA (5x2=10)

i) I A ST | T TR |
Ts-

ii) T Trgsl Qe | RIS 21Tw 3peT SN |

0

o

iii) 92 ITT IR ORI | (OIF ACPRE GO A SR ARHA 20O 1 |
Ts-

iv) (7 feiter ©f e | (@ iee ©f R e =1
Tg-



Q|

b

V-Bengali (7)

v) 9B 60 SIS WY | AR @i Al |
Ts-

v *rafera oft T AT > =14
30, (oNI<E, 3, eI,
Te-

a-Rreial
“9[CE] SMIE (AT AHA AT Ted WIS
F) O A, [FOII FMAT AT Il S 2 (G (0 fofe 5 03 =Reaeme 2

Te-

q) IIGENR W2 FOR SN 2%e 2 OF AN (71l FIC0 (F GTARCE 2
Te-

) VIS B TULRY [ 2
Te-

(3x5=15)

(5x2=10)
(2)

(2)

(2)



V-Bengali (8)

q) oMYA YT 97 (F PSR Fafee 2 (2)
Ts-
©)  AIIET 2% 20e omiz & T ()
Ts-
q-Rei
51 TEMCAR SNEe S IHCE 21q (@14 |
|
AL IFA TANE G5 SIo=T I I | (10)

Te-



RAMAKRISHNA VIVEKANANDA MISSION

DEBARATI ROY MEMORIAL INSTITUTE (D/S)
(English Medium)

Annual Examination - 2021

Class -V

Time : Subject — Computer Full Marks : 50
N F=T 0 TP PPPPPRPPPPPI
ROIINO. : .o, Section ..o Class:...cooomiininnnns Date: ..o
1. Fillin the blanks : (6x2=12)

i) is a folder that holds the deleted objects.

ii) created the first successful mechanical calculator.

i) An keeps track of information in an organized way.

iv) founded micro pro International Inc.

v) is a process of recovering data.

Vi) is a program that helps in viewing and organizing files and folders

on a computer.

2. Write 'True' or 'False’ : (6x1=6)

i)  The icons play a very important role in graphical user interface.

i) Afolder is a container in which we can store similar types of files.

i) In 1716, John Napier made a calculating device.

iv) Flash is the example of Multimedia Software.

v) Taximeter is an example of mechanical calculators.

vi) The term 'software' was first used by Lady Augusta.




V-Computer, Eng. Medium (2)

Tick the correct answer : (5x1=5)

i)  Which pane displays drives and folders?

a) Navigation Pane b) Details Pane c) Tree Pane

i)  When was Difference engine invented?

a) 1820 b) 1821 c) 1822

i) In Abacus, each rod in Heaven has beads.
a) 3 b) 2 c) 5

iv) Press to delete files or folders permanently.
a) Shift + Del b) Ctrl + Del c) Alt + Del

v)  Which is the latest version of windows?

a) Windows 10 b) Windows 7 ¢) Windows 8
Write full form : (5x2=10)
i) IBM-
i) MS-DOS -
i)y IC—
iv) DBMS -
v) ENIAC-
Answer in one word : (7x1=7)

i)  Who suggested the store program concept?

Ans :



V-Computer, Eng. Medium (3)

i)  Which software is used to create animation?

Ans :

i)  Which icon allow to access the shared files or devices on different computers?
Ans:

iv)  Which was the first computer spreadsheet program?

Ans:

v) In which year the first edition of windows operating system was introduced?
Ans :

vi) Which technology was used in first generation of computers?

Ans:

vii) Write an example of system software.

Ans:

Answer the following in full sentence : (any Five)

i)  What do you know about 'computer' icon?

Ans :

i)  Write two example of 1st Generation of computers.

Ans :

i)  What is the use of presentation software?

Ans :

(5x2=10)



V-Computer, Eng. Medium (4)

iv) Write any two features of Windows 7.

Ans :

v)  Who received Turing Award and why?

Ans :

vi) Mention the period of 2nd Generation of computers and which technology was used in this Generation?

Ans :
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1. Answer the following questions : (5x3=15)

a) How did Tom manage to whitewash the fence in one day?

b) When does the palm tree think of returning home?

c) How did the children persuade Albert to dig with them?

d) Where does the poet want to build a cabin? Why does he want to go there? (1+2)

e) What was the rescuer's observation about their chances of success in finding the treasure? Why.
(1+2)

2. Answer the questions with reference to the context : (4x2=8)

Tom paid no attention whatsoever to him. He surveyed his last touch with the eye of an artist, and then he
gave his brush another gentle sweep and surveyed the result, as before.

a) Who is 'him' here?

b) Where is this person going?

c) What does he ask Tom?



V-English (2)

d) Why was Tom inattentive towards this person?

Give the meanings of the words : (5x2=10)
a) plank-—

b) jeer—

c) Sash-

d) sniggered —

e) wattle—
Make Sentences : (5x2=10)
a) fence—

b) dilapidated —
c) hollow—

d) speechless —
e) screamed —

Answer the following questions : (3x2=6)

a) Why did Devicharan decide to perform Durga Puja in his own house?

b) Why did Devicharan go to Sarvamangala's home before the puja begin?

c) Why did Devicharan scold his daughter sarvamangala on the last day of the puja?

Fill up each blank with suitable form of be / have / do : (5x1=5)

a) She__________ goingto be thirty next July.



V-English (3)

b) There _________ ups and downs in life.
c) — youlike to go there?

d She__________ herhouse cleaned.

e) I togotoKolkata everyday.

Complete each phrase with a suitable word :

a) as clear as

b) as as pitch.

c) as as a lark.

d) as harmless as a

e) as as a mule.

f) asproud as a

g) asslenderasa

h) as as an arrow.

i) aswetasa

j) as wise as

Fill in the blanks using the Past Perfect form of verbs in brackets :

a) Bob her before the party began. (meet)

b) She the graduation before the end of 2019. (complete)
c) The patient medicine before the doctor came. (take)
d) My friend asked if | her parrot. (see)

e) | the hall before the exam started. (reach)

Fill in the blanks using the Future Perfect Continuous form of verbs in brackets :

a) | (watch) TV for two hours.

(10x1=10)

(5x2=10)

(5x2=10)



10.

V-English (4)

b) She (work) in this department since 2016.
c) Tom (write) articles since 2018.

d) Alice (design) dresses for many years.

e) He (learn) Spanish for one week.'

Write a paragraph on "Your Favourite Season".
Or,

Write a letter to your younger brother describing him the "Benefits of Early Rising".

(10)

(10)



1.

V-English (5)

Read the following passage and answer the questions below : (3x2=6)

One day a wolf went hunting. He caught a fat rabbit. While he was eating it, a sharp bone struck in his
throat. He was in great pain. He went from animal to animal begging them to remove the bone from his
throat. None came near him. They were afraid of him.

At last he came to a crow and begged her to remove the bone and promised a reward. The crow agreed.
The bold crow put her beak into the throat of the wolf and pulled out the bone. She then asked for the
promised reward. "You silly thing"? said the wolf furiously. "Don't you know that you are lucky enough to
thrust your neck in my throat and that | did not bite it? That reward is enough to you."

Questions :

a) Why was the wolf in pain?

b) Why did other animals not come forward to his help?

¢) How did the crow pull out the bone?
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A) Answer the following questions : (10x2=20)

1. Which is the largest auditorium in India?

A-

2. Which is the national bird of Denmark?

3.  Which is the longest dam in India?

4. Manika Batra is associated with which sport?

5.  Which is the national bird of Canada?

6. Which is the largest road tunnel in India?

7. Luka Modric is associated with which sport?

8. Which sport is Novac Djokovic associated with?

9.  Which is the largest indoor stadium of India?



V-GK. + E.V.S., Eng. Medium (2)

10. Which is the national bird of New Zealand?

A-
Match the following : (5x1=5)
A Answer B
1) | Florida a) | Black Bird
2) | Hima das b) | Lawn Tennis
3) | Mary Kom ¢) | Mocking Bird
4) | Sweden d) | Athletics
5) | Roger Federer e) | Boxing
E.V.S.
Answer the following questions : (8x1=8)

1. Crops grown by using natural mannre are known as

2. We should replace plastic bags with

3. The amount of garbage generated by a personin ayearis

4. Wastes which do not decompose and pollute the environment are known as

5. Waste disposal technique which is followed in villages by the farmers is

6. Waste disposal method which causes land pollution is

7. Mention the three R's for a cleaner environment




V-G.K. + E.V.S., Eng. Medium (3)

8. Process of making new product from a used or waste material is known as

B) Match the following : (5x1=5)
A Answer B

1) | Plastic bags a) | Leftoverfood

2) | Landfills b) | Village farmers

3) | Waste generated c) | Dirty activites

4) | Composting d) | Outskits of cities

5) | Biodegradable e) | Storage containers
C) Answer the following questions : (4x3=12)

1. Distinguish between biodegradable and nonbiodegradable waste.

2. Explain the process of 3R's.



V-GK. + E.V.S., Eng. Medium (4)

3.  Why should we keep our environment clean? List any two ways to keep your environment clean.

4. Explain the waste disposal method followed in village.
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Group -A
A) 1) Fillinthe blanks : (1x5=5)
i) Inan improper fraction, the numerator is than the denominator.
ii) If the selling price is more than the cost price the difference between them is known as the
iii) is bounded by a curved line.
iv) Reciprocal of improper fraction make fraction.
v) To draw a circle we need pencil and
2) Choose the correct answers : (1x5=5)

i) i can be written as — 0.4 / 0.004 / 0.0004
1000

Ans :
i) Average age of 10 boys is 15 years, then total age be — (115/ 150/ 105) years

Ans :

i 52 s quet o e mproper racton - 2 1 25 1 &5
i) 7|sequa o the improper fraction — —= / —= / —

Ans :

40 13 50 6 90

iv)  Which of the following pair are of equivalent fractions — 3 64 / 15 60 / 17° 105

Ans :



V) E+£=? 2/E/:i
7 7 7 11

Ans :

B) Answer the following Questions :

12424
1) Solve: s 15) 3

7
2) How much will you multiply with 7—

V-Math, Eng. Medium (2)

15

Group - B

4
to get the product 12; ?

3) Express decimal to vulgar fraction :(— 7021.095

(2x10=20)



V-Math, Eng. Medium (3)

3050

4) Convert to mixed fraction :— o1

1
5) 3 of 6 day 6 hours = how many hours, days?

6) Find the average of the first 5 natural numbers?

12870

7) Reduce to lowest term : 14586

8) Multiply : 7—x1——x—
) Multiply - 72>, > 97



V-Math, Eng. Medium (4)

, . 61
9) Express as decimal fraction : 759@

10) Daily income of Rahul is ¥ 45 and his daily expenditure is ¥ 30. What is his savings for 10 days?

Group -C
C) Answer the following questions : (3x8=24)

1) Find th : 2L+3L+4i+l
) Findthe sum:  “et 0 93 12

1 3 I 9 1
implify : 2—+2——4—+—+—
2) Simplify : 5 s 216 15



V-Math, Eng. Medium (5)

3) Average age of 4 persons is 16 years and average age of 2 persons is 10 years. What is the average
age of 6 persons?

I 1 2 |1
4) Simplify : 2§+lgxg+zz

5) Divide the difference of 28.3 and 7.68 by the sum of 44.31 and 58.79.



V-Math, Eng. Medium (6)

6) If a cow be sold for Rs 1180.50 there will be a loss of Rs 150.46. At what price should it be sold to
have a profit of Rs 110.04?

Or

1 5
I had 10 kg. of sweets. | gave gth of it to Ram and Eth of it to Hari. How much did each get?

7) A man earned ¥ 890.40 in the month of February in 1926. What was his average daily income in that
month.

8) A man boughtrice at Rs 1205 per quintal and sold it at Rs 1262.50 per quintal. He thus made a profit
of Rs 575. How many quintals of rice did he buy?



V-Math, Eng. Medium (7)

Group -D
D) Answer the following questions : (5x6=30)

5
1) The average weight of 10 boys is 30 kg. If the average weight of 7 of them is 287 kg, Find the

average weight of the remaining 3 boys?

2) Simplify: 125.5+[1545-{8.6-4.6—(12.1-11)}]

3) Hari spends in 5 months what he earns in 4 months. How much will be his savings if his annual
income is ¥ 54247



V-Math, Eng. Medium (8)

4) Aman bought 25 kg of tea at % 110.25 per kg. He then sold 15 kg of tea at ¥ 100 per kg. What should
be the sale price per kg of the remaining tea to make a total profit of ¥ 70.75%?

5) Simplify : fll le
) implify : o] 7o >

6) Draw circle and lebelling the following parts of the circle : (i) Radius
(iv) Sector v) Arc.

(i) Centre

(iii) Chord



V-Math, Eng. Medium (9)

Group - E

1) What is the relation between a radius and a diameter? Find the radius of a circle whose diameter is 63
cm? (1+2=3)

2) Whatis the largest chord of a circle? Which quadrilateral has 4 right angles, 2 sets of parallel sides, and
all its sides are the same length? (1+1=2)

3) If O be the centre of a circle and OA be the radius, write the position of the point B, C and D where —
OC<OA, OD>0A and OB=0A. (3)



V-Math, Eng. Medium (10)

4) Define with diagram : (2x3=6)
a) Diameter b) Parallelogram c¢) Major arc.

5) What is the difference between Rhombus and a square. (2)
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1) M.C.Q.:

i)  The coloured circle in the eye is the —

a) Cornea b) Iris c¢) Pupil d) Nerves
Ans:

i)  What connects the brain to the spinal cord?

a) Medulla b) Cerebrum c¢) Optic nerve d) Spine
Ans :

i) Movement of the lungs is controlled by —

a) Cerebrum b) Cerebellum c¢) Medulla d) Nerves
Ans :

iv)  Weight of adult human brain is —
a) 1.14kg b) 1.8kg c) 1.4kg d) 0.4kg

Ans :

v)  Blinking of the eyes is an example of —

a) Voluntary action b) Involuntary action c¢) Reflexaction
Ans :

vi) Most readily available source of energy is —

a) Solarenergy b) Mechanical energy c¢) Sound energy
Ans :

vii) Force used by most simple machines —

a) Elastic b) Muscular c¢) Mechanical d) Frictional

Ans :

d) None

d) Electrical energy

(1x10=10)



V-Science, Eng. Medium (2)
viii) Nutcracker is an example of —
a) Firstclass lever b) Second class lever c¢) Third class lever d) Screw
Ans :

ix) Instrument used to detect earthquake is —

a) Seismograph b) Seismogram c¢) Seismologist d) None
Ans:

Xx) The gas released from wastes of animals is —
a) Ozone b) Methane c¢) CFC d) Both'a'and'b'

Ans:

Fill in the blanks : (1x20=20)
i) Our system controls all other systems of our body.

i) The , and form the nervous system.
i) The upward push of water on a floating object is called or

iv) In hospitals called ramps are provided for pushing up wheelchairs.

v) A wheel with a rod attached to it is known as arrangements.

Vi) is the ability to do work.

vii) Most of the energy comes from burning fuels.

viii) Mechanical energy can either be energy or energy.

ix) Geothermal energy is a source of energy.

X) The earth's upper layer is made of large and small

xi) The volcano is located in the Andaman and Nicobar islands.

xii) On an earthquake measuring 9.0 hit off the coast of Indonesia.

xiii) Based on the nature of eruptions volcanoes can be or




3)

V-Science, Eng. Medium (3)

Xiv) controls reflex actions.

Write True or False :

i) A greenhouse is a concrete house where we grow plants.

Ans:

i)  Water vapour causes 35% - 75% of greenhouse effect.

Ans:

i) Oxygen is a greenhouse gas.

Ans :

iv) Increase in the number of factories have resulted in the increase of oxygen.
Ans:

v) Tidal or storm waves are called drought.

Ans :

vi) The liquid that comes out of a volcano is called core.

Ans:

vii) Richter scale was invented in 1935 —

Ans:

viii) The pulley used for drawing water from a well is a movable pulley.
Ans :

ix) Energy of motion is called potential energy.

Ans :

Xx) The iris is an opening in our eye through which light enters.

Ans :

(1x10=10)
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V-Science, Eng. Medium (4)

Answer in one word :

i)  Force due to which we are able to stay on ground.

Ans:

i) Force used to push, pull or lift something.

Ans:

i) A small wheel with a groove around its outer edge is called —
Ans :

iv) Energy used by solar panels to provide heat.

Ans:

v) The sense organ which enables us to keep our balance.
Ans:

vi) The nerve joining the eye to the brain.

Ans:

vii) The bulb shaped part of the brain.

Ans:

viii) What protects the brain?

Ans:

ix) Amount of blood pumped through our brain every minute.
Ans:

X)  One source of light energy.

Ans :

(1x10=10)



S)

6)

V-Science, Eng. Medium (5)

Match the following :
Column -A

i) Blocked nose

i)  Mechanical energy
i)  Memory

iv) Sound energy

v) Actions of muscles
vi) CFC

vii) Hydropower

viii) Volcano

ix) Deforestation

x) Earthquake

Answer the following in short :

i)  Whatis a reflex action? Give one example.

Ans :

Column -B

Musical instrument
Cerebrum

Mount Fuiji

Global warming
Water energy
Refrigerators
Seismologists
Steam

Kinetic energy

Cerebellum

(1x10=10)

(3x5=15)



V-Science, Eng. Medium (6)

i)  What are simple machines? Give one example.

Ans :

i)  What is a tsunami?

Ans :



V-Science, Eng. Medium (7)

iv) What is a greenhouse?

Ans :

v)  What is global warming?

Ans :



V-Science, Eng. Medium (8)

7) Answer the following questions : (5x3=15)
i)  Give reasons how man is partly responsible for global warming. What are earthquakes? (3+2=5)
Ans :

i) Name the sense organs of man and write their functions in short. (5)
Ans :

i) Name six different form of energy.
What is a screw? (3+2=5)
Ans :



V-Science, Eng. Medium (9)

8) Draw a neat diagram of "human brain" and label the parts. (6+4=10)
Ans :
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A. Answer the following questions : (6x5)

1) How did the discovery of iron change the life of early man?

2) Why is there a need to use other sources of energy?



V-Social Study, Eng. Medium (2)

3) Why was the Satyagraha Movement started by Gandhiji?

4) Write about the Jallianwala Bagh massacre.

5) How did Benjamin Franklin discover that lightning generates electricity?



V-Social Study, Eng. Medium (3)

6) How did the invention of steam engine prove important to man?

B. Write a short note : (4x5)
i) LeydenJar-—
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i) Subhash Chandra Bose —

i)  Simon Commission —
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iv) Dandi March —

Fill in the blanks :

i) Petroleum was first discovered in

i) was the first metal to be used by early man.

iii) invented the first engine which used petrol as a fuel.

iv) The first session of the Indian National Congress was held in

(10x1)

v) The Rowlatt Act was introduced by British in

vi) The Secretariat is headed by

vii) The Pan-American Highway runs from to Chille.

viii) Vegetation and settlements in a desert are found near an

iX) was the name given to the first successful locomotive.
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X) was the man behind the formation of the Indian National Army.

True or False :

1) Bronze was made by mixing coper and tin.

2) Benjamin Franklin was inspired by the idea of 'Leyden Jar'.

3) Petrol is a cheaper fuel than disel.

4) Petroleum was the first fuel to be used in machines.

5) There is an abundant supply of air and sunlight on the Earth.

6) 71% of the earth's surface is made up of land whereas 29% is made up of water.

7) Mountains are the highest landforms.

8) The speed of a river increases in its lower course.

9) Plateaus are thinly populated.

10) Deserts have very little or no vegetation.

Match the following :

A B
a) QuitIndia Movement i) 1928
b) RowlattAct i) 1947
c) Poorna Swaraj i) 1942
d) Simon Commission iv) 1919
e) Complete independence v) 1929

Name the following :

(10x1)

(5x1)

(5x1)

1) Two chains of mountains.

2) The height above Sea-level.

3) The round pointed tip of a mountain.
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4) Largest desert of the world.

5) The river course which forms a delta.

Short answer type Questions : (10x2)

1) What are the three modes of transportation?

2) Why is the Trusteeship Council not functional these days?

3) Define WHO.

4) Whatis Veto?

5) What is relief?
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6) Write the importance of mountains.

7) What is Tanker?

8) Who was the first person to make a petrol car in 18887

9) What is Voltaic Pile?

10) What is Hill?




